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1. Identify the question type

2. Extract related topics from the textbook

3. Select the answer for four question types

v'Detect a conflict and an event for True-or-False question

2. Question Type Identification
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®Extract the related topic from the textbook ® Keyword based scoring
—Compute scores for each topic
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4. Answer Selection for True-or-False

® Conflict Detection : Detecting a conflict in a choice ®Choices are ranked on the basis of scores and tags
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® Lvent Detection : Focusing on the relation between events
Choice

Game [ A defeated B H Tag . Fact [ C Score: 0.9
Textbook | g _ Tag : No Tag

[ A defeated B ]—Entalled [Blost against A}<. Tag: Fact D ) . ! C ) l<! False
core : .
\_ ) Choice
€

4 D )

_Tag : Conflic

Confljct
\ [A lost against BH Tag : Contflict

5. Result

® Average of the formal run results : 35.3 ® Scoring needs to solve a different notation problem
—Ex) “Jewish soldier” and “Jewish officer”

®Boosted up other system results in the combination run
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® Event Detection was not effective
because of lack of information



